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BBI—F [&% TEEM HFEEH |[HEEske |[#YTESke [HExIRGIESke [HESH [ [BYRGISE [HUYRSIHE [SYRSIRE [HEXRGISE [HEXR5IHE [HExdiEIRE
NB|FEFEAS [dtiEE 400 4,000 0 4,000 10 0 0 0 1,728 0 756
ED 400 4,000 0 4,000
RAIEES GhH 3 30 0 30
1141|5848 mE 6 30 0 30 5 0 0 0 3,024 0 864
=) 5 50 0 50 10 0 0 0 0 1,728 0
& 11 80 0 80
1201[83% % 120 1,800 0 1,800 15 0 0 0 1,490 0 1,080
& 120 1,800 0 1,800
1203[F ¥Ry [HE 170 1,700 0 1,700 10 0 0 0 1,350 0 1,188
HE 30 450 0 450 15 0 0 0 0 1,166 0
f=554 118 1,180 0 1,180 10 0 0 0 1,350 0 486
ED 318 3,330 0 3,330
1207[F& GH 680 68 68 0
1209| A& dLiEE 10 50 0 50 5 0 0 0 3,240 0 2916
(&) 15 65 0 65
1223| &% EE 30 9 9 0 0.3 0 162 0 0 0 0
(&) 30 9 9 0
1301 |FF EE 1 5 5 0 5 0 702 0 0 0 0
BmE 5 10 0 10 2 0 0 0 0 1,188 0
e 30 150 0 150 5 0 0 0 2,160 0 1,620
= E 1,400 420 0 420 0.3 0 0 0 97 0 95
=0 22 110 0 110 5 0 0 0 2,484 0 2,376
(&) 1,458 695 5 690
1311[FRE (&) 48 192 0 192
1321 [ BiE 47 235 0 235 5 0 0 0 3,564 0 2,268
Eh 87 435 0 435
1331 [MFEH»  [dLiEE 50 500 0 500 10 0 0 0 2,808 0 2,592
Eh 50 500 0 500
13B1E—<> [EE 150 23 0 23 0.15 0 0 0 0 108 0
=I5 120 16 0 16 0.13 0 0 0 0 130 0
(&) 270 38 0 38
1353[> Tk GH 69 15 0 15
1355|455 BERS 80 8 0 8 0.1 0 0 0 0 92 0
Eh 120 12 0 12
1521 |83 ZiE 3 30 0 30 10 0 0 0 0 4,860 0
Eh 3 30 0 30
1541 | E& (&) 1 20 0 20
1603|)L)— [REH 3 30 0 30 10 0 0 0 0 3,456 0
(&) 3 30 0 30
1609|70val)  [EF 15 90 0 90 6 0 0 0 4,536 0 3,024
(&) 15 90 0 90
1611[LAR EE 3 30 0 30 10 0 0 0 0 4,536 0
(&) 6 45 0 45
1612| =L 2R |EEF 3 15 0 15 5 0 0 0 0 3,132 0
(&) 3 15 0 15
IE TS 24 72 0 72 3 0 0 0 3,672 0 3,240
(&) 54 78 0 78
1705| T A= =40 180 14 0 14 0.08 0 0 0 0 59 0
(&) 184 30 0 30
1803[ M E EE 810 81 0 81 0.1 0 0 0 140 0 113
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=) 150 15 0 15 0.1 0 0 0 0 120 0
S 390 78 0 78 0.2 0 0 0 77 0 66
GhH 1,350 174 0 174
1807|8E E& 900 180 0 180 0.2 0 0 0 0 73 0
GhH 900 180 0 180
1809[L&HL EF 250 25 0 25 0.1 0 0 0 0 51 0
f=554 450 90 0 90 0.2 0 0 0 0 91 0
& 700 115 0 115
* S FEEL * 12,873 23572 96 23,476
2103| EE A M A [FIFRIL 27 135 0 135 5 0 0 0 3,100 0 2,435
Fnarl 15 150 0 150 10 0 0 0 0 3,996 0
& 42 285 0 285
221|=2+ 'S 25 250 0 250 10 0 0 0 5,940 0 5,400
& 25 250 0 250
2311 |FrERL B 39 390 0 390 10 0 0 0 5,400 0 5,184
[E)) 39 390 0 390
2421 | FHE M [&0) 73 1,314 0 1,314
2616|SYRA+ [EH 100 35 0 35 0.35 0 0 0 0 778 0
[ 20 100 0 100 5 0 0 0 7,668 0 7,020
[E)) 120 135 0 135
2801[F BiE 1 10 0 10 10 0 0 0 0 16,200 0
(&) 1 10 0 10
2821|FEER RE 108 54 0 54 0.5 0 0 0 389 0 259
[E)) 108 54 0 54
* EEET * 743 3,562 0 3,562




